FT0E 2 B A PERGEE R LR AR =E RS [24500174] bI s EHE =
ZEZBEGAR—Y DORFE [231010] 2y —bEHE WS
2024/06/22 BeW W R R
BTEHEHE i SeN
BOROE W ORE =i s
BTN E EU i
U A I S
H HiH 15 27 37 I 507 607 5 S
ot FEEQR) 2513 (1A BE(3) 2366 [FE FERQB) 2274 (Fnm #E—(3) 2077 R FT I AEER(3) 20655 [JIIEH EE(3) 2036 5 [AHFS ARH3) 2027 5[k K—(2) 1987 1%
6522 DR (R 1) S o AJH|REEFRC W REBFRC Eyp kR kR eI
14.77(+0.4)-10m55-1m68-55.26 15.31(-1.6)-10m30-1m60-55.33 16.14(-0.9)-14m02-1m50-59.28 16.31(-2.0)-9m62-1m50-56.83 17.22(-1.6)-10m66-1m55-57.23 15.05(-2.0)-9m32-1m40-59.47 16.03(-1.6)-8m36-1m60-59.06 17.87(-2.0)-7m69-1m60-54.03
= ) 26523 | LE(3) 25665 |1 7E(3) 25445 | A HFE(3) 23415 | Mt EH(3) 21045 | H BE3) 20855 |4k 32 A (2) 20585 | KA EZ(2) 20115
6221 DU £ (T EFnH AJH|FEZEH KAH /MR YN KA B A —5Beast
15.00(+0.4)-1m44-8m84-25.96(+0.1) | 14.84(+0.8)-1m38-9m83-27.21(+0.1) [ 14.61(+0.8)-1m35-7m71-25.86(+0.1) [15.49(+0.9)-1m30-10m26-28.29(+0.1) |15.84(+0.9)-1m35-6m05-27.94(+0.1) | 16.35(+2.0)-1m30-5m14-26.12(+0.1) [ 16.73(+2.0)-1m35-7m50-28.35(+0.1) | 17.97(+0.4)-1m38-8m70-28.62(+0.1)
H HiH I 27 37 A 507 607 5 8{
6122 Sags 97 100m WA HERG)  11.20(+2.2)| 462 BERERR)  11.36(+4. DA k(D) 11.38¢G4.D|AR EKREG)  11.46(+2.2)| & (2  11.51(+4.D[FEM EmB)  1L52G2.D[WEA 7xi=@G)  11.53(+2.2)[# P &rFHG)  11.54(+4.1)
e AlEE fit-ga A DFEMIE B Bl YL —E A
65122 e B 200m FHE MEAQ)  23.17C-1.5) | EEER) 23.68C-1.5)|IUA ZEF(B)  23.87CLL)|BA @3}(3)  23.97(-2.7)|thEF HEER)  24.00(-1.5) AT HEE(2)  24.08(+0.7)|BFE EAH(3)  24.13(-2.7)|HEHE K 24.38(-1.5)
) TR FEE)IF fit-ga wEg BET Sl JEAE JIE
65122 e B 800m R #Q) 2:04.00(/INFH —HR(3) 2:05.59(4 M f&5h(3) 2:05.74|% % W#(3) 2:07.05(F77 =.(2) 2:07.63(FHE  JHR(3) 2:08.02 (38 HEJA(3) 2:08.89[db4F £(3) 2:09.96
- L B il S HH B — R —E JEEF S
enzen| e myisoom |G KRG 4:07.39| [k Z2IK(3) 4:08.15|78M i 1:(3) 4:20.49|WE dr —0:(3) 4:23.63|fE A HARQ) 4:24.60[HH 3ELER(3) 4:27.22(FJ)1 HL2HQR) 4:27.32| \ % #£(J2) 4:27.82
) —E FABR HE TR IREF Ry AAH - B omg
65122 gk Bopsooom  |MIED BE(3) 9:28.66| 1T MR A(3) 9:37.40|ATH LEE(2) 9:52.52| % 3 AQ) 9:59.26| LAk HRZE(2) 10:03.45( Al F2HE3) 10:06.98[ k% #iil(3) 10:07.29(#k =IHB) 10:07.34
e J\JE A IREF B JEAEH Bl AAH AAH —E
6122 s BT KA BE3) 15.51(-1.5)|#kA IE/~(J3)  16.98(-1.5)|AiTH ¥1(2) 16.99(-1.5)|%8 Zzik(3) 18.30(-1.5) /MK HtFiH(3)  18.34(-1.5)|(FRE pz4r(2)  19.08(0.0)|i % 55(2) 19.62(-1.6)|BFliF BB—ER(3)  19.79(0.0)
110mYH(0.914m) e AEFRC A Finl g - HH B AL /MR
eroch| e 9 EHL HAR3) 4m30( P =FA3) 3m80|/pk FE(2) 3m60|H I BESH(3) 3mb0| =i 1&1(3) 3m40|H E KEFE) 3m30|itF FHEEQ) 3m20| LB EK(©) 3m20
- /MR FEE)IF JEAEH EPIHEF /MR FEE)IF B B
eaoon|  mee myems | EHG) 6m29C0.2)| T FEAR®G)  6m20(-0. )| HF3) 6m09(-1.5)(Fk HERIEG) 5m95(-1.0) (B BERQR)  5m77(-0.8)[&2% 5#()2) Sm76(-1.D[HFF BEKER)  5m72-L.D[FEF FEA(Q2)  5mb53(+0.6)
T FEE)IF /MR B - B E3 AV DFIEMIE AL ik
6foon| TERBFUvYyy B B2 8h(3) 48m61| AT HA2) 4Tm32| K EB) 46mI1 |1 FHIE®) 45m09 |7 KEL2) 44m13| kT RER) 40m84| 78 A1) 40m43|fE L HH(3) 37m60
(0.300ke) S AR ek JEAET A S E B — R B Fa e
. SEA £ 100m W EE(3) 12.23¢+0. )|kt BRZ=(2)  12.34¢+0.D) |k #EAG)  12.35(+0.7) |3 FFE(2)  12.53¢H0.D[PEKS 5\ (3) 12.65(+0.7D) | Hi #EF(©2)  12.73+0.D|FF -FOQ) 12.84G+1.D|dEH EB(©2)  12.94(+0.7)
- /MR FEEAN A IR NAC /MR B —H MY =
6H 220 A o T200m FH OPBEAKOQ  28.13(-3.5)|=#m F7(2) 28.56(-3.5) [ =)  28.94(-1.3)| kv ZEH(3)  29.35(-3.5)|HHEE HIE(2)  29.81(-3.5)|IuA EH2)  29.89(-3.5)|FiK LPKQ) 29.90-3.5)|H%F EHEG)  30.47(-2.4)
) SEE B JT BRIy FrEvE)ll g L S AR L3kt FrEk
6H22 A 4 7800m WL LEG) 2:19.44|/N11 Z01E(©2) 2:20.37| B LAE(3) 2:24.36|1+ E#Q1) 2:24.78[8% FnZE(1) 2:26.64( 7)1 E(2) 2:27.31(H F FxF0) 2:29.34|iRES AETH(2) 2:29.49
e = fE 3T YNETELA Bl L (LFr AL E2 LN
6H 220 S 4o 71500m o 1) 4:53.27|FEA A HE(3) 4:57. 11| M FEREQ) 4:59.44 )1l BAFI(2) 5:08.09(F2 WEAE(2) 5:09.09[ I Zwe(2) 5:12.00[ kB TE:5(3) 5:14.14|NJE f&TE®3) 5:16.08
IRy B o /MR fE g gL Iy JIBERC ALY
. s LT a ZEREG)  15.07G0.6)|EfE ZwE©2)  15.57(H0.)(MH FER)  15.63(+0.6)|[#3H YV2x(J2) 16.29(+0.9) /NS EFEHB)  16.67(+0.6)|FVE A JH(3)  16.97(+0.6)[ KT Ex(2) 17.23(+0.6)| & H 03E(J3)  17.55(+0.9)
100mMH(0.762m) B i I JEPE KINGDOM AC e Enlr B HETFRC
6A22H| e LTk ity ZEQR) 2m70| AT B35E(3) 2me0| 5 X (3) 2m50 | H il FLPI(2) 2m40[ Fall A ZE(3) 2ma0 /g BLib(2) 2m20| (L)1 #E1-(2) 2m20| Rl F:ZE(2) 2m10
- JEAET B /MR JEAEH AW FEvE)llf /MR FEvE)llf
6aoon| e srems (WA BRHU3) 4m75(+1.0) BET WeA(3)  4m68(+0.2)[ 1L #EA@Q)  4m65(-0.D|F =£#42(J2) 4mb1(+0.6) [k ZX50(3)  4m45(+0.3)|FHH ABH(3)  4m31(-0.9)|H M HFEB)  4m25C-1L.D[MRE EEG)  4m20(+0.4)
- S SN ft-gar NAC S E B JEAEH /MR JT
6foop| RELFUYYyy IR KEE(3) A1m88[EnA WiA(3) 38m06 [ A (1) 35m65 (it F£(3) 35m16[ R LE(2) 3Am73|Fr FAE(3) 33mO00 ([ A #(1) 30m27 R SR R(2) 28ml13
(0.300kg) NAC = Ea AW (LFr /MR AW =

FLBI AJH:4 H P T A gk




